Think together

o How many

are there in 7 tubes?

I |2

3

4

O
G 6

12

13

14

()| 16

@]

2| | 22

23

24 | 25

26

27

28

29 | 30

3l |32

33

34

35

36

37

38

39

40

4| | 42

43

44

45

46

47

48

49

50

There are
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o How many @ are there in 8 tubes?
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@ in 8 tubes.



o How many @ are there in 9 tubes?

How many @ are there in 10 tubes?
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There are @ in 9 tubes.
There are @ in 10 tubes.

Would I need to write
all the numbers in? I
can see a pattern from
earlier. I think I know
where the numbers go.






